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\:75 Challenges with sources (1) O e

« Some did not discuss the source content sufficiently
which is not ideal, as the source content needs to be
the basis of the answer.

« Students should be more explicit in their use of the
source so examiners can be sure that they are
basing their answer on the source.

» Better responses cited the source regularly, making
effective use of quotes to guide the direction of the
discussion.

* At the lower end of the scale were students who did
little more than use the source as a comprehension

exercise, explaining both si%es of the arguments.
This document is available free of charge on stUdocu
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\:75 Challenges with sources (2) © Pearson

« Some students simply agreed with one side in the
contested source debate and failed to provide
evaluation to reject the opposing view.

« Candidates were unable to offer a clear line of
argument throughout, instead just summarising both
sides of the argument, and suffered accordingly with
their AO3 marks.

« 3o the key weakness here (and across all 30-mark
answers) was a failure to commit to one side and
say why that side was the stronger.

* Where candidates did try to contrast arguments from
the source, quite often they were unrelated
arguments, so the comparison was hard to assess.
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\:75 Challenges with sources (3) O e

Better responses compared the opposing arguments
directly, rather than in separate halves of the essay.

The best answers were able to consider opposing
arguments in conjunction with one another before
reaching a judgement as to which was the stronger
argument.

These responses also made evaluative judgements
throughout their essay, offering sustained evaluation
throughout, so their concluding paragraph flowed

from what had been argued throughout, but this was

rare.
t is available free of charge on g stUdocu
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1a. Using the source, evaluate the view @Egjxfcse?“
that the outcomes of general elections
are stable and predictable.

1 (a) The source below considers the factors which deliver success for political parties
in general elections. It reflects on whether the outcomes of general elections are
predictable or whether the electorate can spring surprises, making the results more
volatile.

Some people claim that success in a general election for a political party depends

on stable and predictable forces. Few seats change hands in a general election and
voting patterns are predictable and constant. In studies of voting behaviour factors
such as an individual's class and family background combined with the area in which
they live all merge together to provide a clear indication of the way an individual

will vote. On this basis, opinion polls accurately indicate the ocutcomes of a general
election. When many people are asked, they readily identify with both a specific class
and endorse the policies of a major political party. The dice is loaded from the start
and outcomes of general elections are all too predictable and fixed.

However, many now doubt the idea of predictability and the assumptions on which
it is based. Instead of predictability they infer unpredictability and volatility with an
inability to forecast accurately the outcome of how the public will vote. In fact in
2015, 111 seats changed hands and in 2017, 70. General elections and success in
them is built around capturing ideas and having media support. What the political
parties say in new policies and their manifestos matters greatly. Opinion polls, as the
general election in 2017 showed, are no longer good indicators of the outcome. If
anything, the 2017 general election illustrated the importance of age and education
as indicators of how people vote. The media can make and break a political party.
Riding the wave of media attacks, a political party must have a good leader who can
weather any storm and connect with the masses. This is what Blair and Thatcher did
and was the basis of their success. Policies and leaders are the crucial factors and, as
- such, they are the leading indicators for success at the polls.
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This counter-point
shows the student
using the source
effectively by
referencing it to
illustrate their
point. Also, the
student is
considering the
different opinion of
social factors
(comparative
analysis — AO2).

to the view they
considered in the
first paragraph (not
shown). Additionally,
in the opening
sentence they add
an AO3 judgement.
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This counter-
point shows
how, having
recognised
one side of the
argument in
their first
section (not
shown), they
critique it with
the argument
they consider
stronger. Their
judgement can
be seen
throughout the
paragraph.
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13 Paper1 qu.1a exemplar © Pearson
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This opening point shows a good linking sentence at the end where they begin
their evaluation by rejecting the view they have just outlined. In their next

paragraph (not shown), the student goes on to discuss why elections are actually
not predictable any more.
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These conclusions all do the job of
concluding with the view they have
argued throughout the essay.
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m 1b. Using the source, evaluate the view that @Egjxfcse?“
proportional representation would improve
elections to the Commons.

{b) This source is adapted from a Hansard report of a debate in the House of Commons
held in October 2017. More than 100,000 people had signed a petition calling for
the introduction of proportional representation for elections to the Westminster
parfiament. Here are extracts from the speeches made by Steve Double MP
{Conservative Party) and Caroline Lucas MP (Grezn Party).

Steve Double MP

Proportional representation will damage democracy by putting more power into
the hands of parties. First-past-the-post (FPTP} invanably delivers strong and stable
government. Votes are not wasted for we have seen turnout increase in recent times.
It is clear and easy to understand. In addition it prevents extremist parties from
gaining seats. There is a direct link between the MP and their constituency. The FPTP
system enables us to exchange our strongly, passionately held views in the House of
Commons. My party is committed to FPTP as the best system for this country.

Caroline Lucas MP  _
FPTP is damaging the legitimacy of our system of governance. A winner-takes-all
approach to elections promotes adversarial politics. It encourages each of the major
parties to seek to defeat their opposition completely, negating the need for post-
election cooperation. Policy is likely to change dramatically when governments
change. Countries with proportional representation (PR) systems outperform those
with FPTP systems; PR would be likely to encourage more people to vote. It is very
hard to persuade people to vote when they live in so-called 'safe seats. We would

| also improve the chances of electing a parliament that better reflects modern Britain.

(Sourced from: Crown Copyright)
14
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In this opening
point, the
student is
discussing the
issue of turnout,
referencing the
source directly.
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Second, it could be argued that proportional representation would improve elections in the

House of Commons because it would make Parliament more representative. Lucas argues

that, ‘We would also improve chances of electing a parliament that better reflects modern
Britain.” This arguement is evidenced by the fact that FPTP creates wasted votes, which
means that the make-up of the House of Commons does not really represent how people
voted. There are many wasted votes in the UK because of FPTP, as seen in 2015, when 74%
of votes were wasted because they were for one of the loosing parties. PR is much more
representative, for example it is used to elect the Northern Ireland Assembly where Sinn
Fein won 24% of the vote and a corresponding 28 out of 106 seats. Therefore proportional
representation would be more representative of the UK and could arguably be used to

improve elections to the House of Commons. However, this argument is not wholly

convincing as FPTP is not totally unrepresentative, as Double argues, ‘There is a direct link

between the MP and their constituency.’ Fundamentally, under FPTP there are single-
member constituencies with MPs who listen to their constituent’s concerns through
surgeries and telephone and email correspondence and voice these concerns in Parliament.
Because proportional representation is not based on constituency voting, there would not

be individuals in the House of Commons who would directly represent the people’s views in

Parliament. Therefore, proportional representation should not be used for elections in the

This document is available free of charge on

House of Commons because FPTP provides effective representation.

Paper 1 qu.1b exemplar

In this point and counter-
point, the student is
discussing how
representative each system
iS.

Again, they are using
examples to explore in depth
the point they are making.

\

Here they are refuting the
above point by suggesting
that representation is not just
about numbers, but about
making a connection and
supporting one’s
constituents. They also begin
and end their counter-point

M@p‘their view
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w 1a. Using the source, evaluate the view that @Eg:lxrcse?n
devolution is in danger of undermining the
unity of the UK.

1 (a) This source has been adapted from the House of Lords Select Committee on the
Constitution report entitled “The Union and devolution; published in 2016. This report
considered the effect of devolution on the United Kingdom and the Union.

England, Northem Ireland, Scotland and Wales are stronger united than apart. Yet
today, the Union is threatened by continuing demands for independence and also
the tensions and inequalities created as policies diverge between devolved bodies -
over health, education or tax, for example,

Power has been devolved in an uneven way: a power-sharing executive, a national
assembly or parliament, a combined authority, or English Viotes for English Laws.
The cumulative impact of deveolution on the unity of the United Kingdom has not
been properly considered. The benefits of unity and the Union have been taken for
granted. A coherent vision for the shape and structure of the United Kingdom is
required, without which there cannot be constitutional stability.

On the other hand, devolution has been achieved without undermining our unitary
state and without the need for federalism or codification of our constitution. The
four nations are ‘stronger together, in a relationship of clear mutual respect. Although
nationalism remains strong in the devolved nations, devolution has satisfied some
demands for self-government, avoiding a break-up of the union. Policy divergences
reflect local democracy and identities, while maintaining the integrity of the

| United Kingdom.

{Source: adapted from hittps:/publications parliament.uk/pa’
[d20151 &/ |dselect/idconst/ 142149, pdf )

20
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Here the student has written an introduction by referencing the source and
summarising both sides of it, but concluding that one side is stronger.
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Here, in a
point and
counter-point,
the student is
using the
source to
consider both
sides while still
identifying
which one is
the stronger
one in their
opinion.

¥ L]
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Here, in their
opening point, the
student is using the
source effectively
by referencing it
and then by
exploring the point
raised in more
detail by bringing in
own knowledge,
showing good AO1
skills.

The student
continues towards
the end of the
section to reject an
opposing argument
as being weaker,
showing good AO3
skills.
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w 1b. Using the source, evaluate the view that @Eg:lxrcse?n
Prime Ministers have too much power.

{b) This source is adapted from the House of Commons Political and Constitutional
Reform Committee report entitfed the Role and powers of the Prime Minister’
published in 2014. This examines whether there is adequate public understanding
and darity about the Prime Minister’s role and powers, and whether the checks and
balances on those powers are sufficient.

Prime Ministers have significant powers of patronage such as appointing ministers.
They set the Cabinet agenda and are able to control the Cabinet - including deciding
who chairs the most important Cabinet committees. [if a Prime Minister is an electoral
asset, they are fairly secure in office and, as long as they have the support of their
closest allies in Cabinet and a large Commons majority, they face very few limits to
their power.

However, Prime Ministers cannot appoint whoever they want to Cabinet. They must
reflect the balance of party opinion and appoint the "big beasts, as it's better to have
them “inside the tent rather than outside Theresa May had to retain a balance of
‘Brexiteers’ and "Remainers’ in her Cabinet, reflecting Conservative Party divisions.

Prime Ministers can be brought down by their party. Tony Blair was arguably forced

to resign. Margaret Thatcher resigned after losing the support of her Cabinet, when

her Poll Tax’ was rejected by the public. Prime Ministers with small majorities, or

no majority, cannot take Parliament for granted. Theresa May avoided votes in

Parliament which she expected to lose and the Commons prevented Cameron from
| going to war over Syria.

{Source: adapted from hittps:/Vpublications pariament.uk/pa/
This document is available free of charge onggmdmlmn'GE 17351 'F‘dﬂ
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Paper 2 qu 1b exemplar

In their opening point
the student is taking
points from the source
and using their own
knowledge to add
explanation. By exploring
the points raised in the
source in this detail they
are scoring highly in AO1
and AO2 marks.

\N\m\»w\\ e N m
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It's also worth noting that
students can reference
the source without
directly quoting it.
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Paper 2 qu.1b exemplar © Pear.

In the counter-point of
their answer, the same
student goes on to
challenge their point by
using counter-points
raised in the source.

Here we see the
student addressing the
points from the source
directly and adding
some of their own
analysis.

\Nmmﬂ’ studocu
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part of a counter-
paragraph
arguing against a
point made prior
to this.

Here the student
is arguing the
case for their side
rather than just
stating two
different sides to
an argument.
They conclude
their paragraph
with their
judgement.
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Edexcel
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This conclusion sums up the discussion had throughout the essay and concludes

that PM’s do not have too much power. It is important to note that this student
argued this throughout the respanse. as well agg@{jaa'yg\g this in their conclusion.
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Pearson

Challenges with essays © reurs

Since marks for the AOs are equal, it was as important
for candidates to reach a reasoned conclusion (AO3) as
it was to analyse (AOZ2) and provide facts (AO1).

Some responses were largely narrative — or often seen

as ‘story telling’ and full of AO1 — but underperformance
on the essays was again linked to ineffective means of

hitting all the AOs.

Weaker essays were not well-planned or thought through
— and the candidates changed their views and opinions
regularly in the response.

So, as with the sources, the key weakness was not
committing to one side and say why that side was the

stronger.
g is document is available free of charge on g stUdocu
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Pearson

Paper 1 qu.2a © Pear.

.t

2a. Evaluate the view that think-tanks, lobbyists
and pressure groups have little impact on
government decisions.

32
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W Paper 1 qu.2a exemplar i

This
introduction
outlines both
sides of the
Naort.... eretied... L0V LNAL ). veqn debate before

T e Lgal cbligahon o lsten b tiem, ] outlining the
tho govermant con stohe Yoon dovwn, ~od  ,ViEW thatthe

essay will take.

This document is available free of charge on g stUdocu
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This counter-point is
looking at think-tanks

we orhy tdvgory | Seen  poot] potrslly e F»j,mfocr% and is suggesting that
A fhr Q&ﬂ/kﬂ mﬂqﬂ&r W a”‘u’ lo he  Caprfeht ”""M'Z !:hey aren’t able to

polis  as 1M ﬂﬁw 7 orafath 5,,% Mf‘,‘, Wi b rofr mflulence government.

Their AO3 came in the
Hhat W Aodfing form of interim
jo ot Tk ool

judgements.

This student wrote
three separate
sections, each one
considering the
effectiveness of each
type of group. They
included an interim
judgement at the end
of each section.
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Paper 1 qu.2a exemplar

This response was not
typical, but it was very
effective.

The student took a
different theme in each
section (here it’s the
method of behind the
scenes/personal
pressure) and
discussed all three
groups — balancing the
effectiveness of each
and also comparing
them.
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Paper 1 qu.2b © rears

e ®

2b. Evaluate the view that the only political
parties that matter in our political system are
the Labour and Conservative parties.
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Here, in their
opening point,
the student is
discussing the
role of FPTP in
whether minor
parties matter.
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Here the student
is developing the
issue (logical
reasoning —
AO2) and
relating it back
to the question.

oS confitny. Hewnensr, I b
L#‘ m This document is available free of charge on Q S?{I ocu
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Paper 1 au.2b exembplar

Here the same
student is critiquing
the same issue in
their counter-point
by discussing why
FPTP does not help
the main parties.
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They are using
examples, not just to
exemplify (AO1), but
also to explore in
more depth the point
they are making
(AO2). They are
making their
examples work hard
to help them critique
the previous
paragraph.
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Second, it could be argued that the only parties that matter in our political system are the

Labour and Conservative parties because they have ultimate legislative influence. By always
being in control of government, which is in control of the legislative agenda in Parliament,
they have ultimate influence over the legislation that comes into place. Therefore, they are
the only parties that matter because they are the the only parties that have affected British
policy. Furthermore, they are always more likely to win elections than smaller parties
because the UK general elections use the First-past-the-post electoral system, which favours
the main two parties as they win a ‘winners bonus’. The Conservatives and Labour have

localised support, so will win more seats and will therefore have overall electoral success.

Above, the student is outlining one side
of the argument in their opening point

(only part of the paragraph is shown here)

They follow it with a counter-point,
where they are not only giving the
opposing view (AO2), but explaining

why they think it is the stronger view
(AO3). Notice also the excellent use of
examples which develop the points they
m a ke Ve ry e-ﬁ-'eCtlver This document is available free of

Pearson

Paper 1 qu.2b exemplar O o

parties that matter in our political system. However, this argument s less convincing than

the argument that the Conservatives and Labour are not the only parties that matter, as

smaller parties have an increasing influence over the legislative agenda without needing to

be in government. For instance, in 2014, the growth of the Scottish Nationalist Party in

Scotland showed that there was a public desire for Scottish independence, which led David
Cameron to call a referendum on whether Scotland should remain part of the UK. This
shows the SNP influencing government decisions. Similarly, the popularity of UKIP in the

2015 general election led Cameron to call the 2016 EU referendum on Britain’s continued

membership of the EU. Finally, the government are now in coalition with the Democratic
Unionist Party, relying on the DUP to side with them in any votes, However, the DUP voted
against Theresa May’s Brexit deal because they disagreed over the Northern Ireland
backstop, blocking the deal, leading to Parliamentary gridlock and the eventual resignation
of Theresa May. It is evident that other parties are now increasingly able to influence the
government’s legislative agenda, showing that without being in government, they still have

considerable influence over UK politics and that the Conservatives and Labour are not the

only parties that matter,

charge on Q stUdocu
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The role of the
conclusion is to
tie the essay
together and
reiterate, briefly,
what has come
before it. Both
these conclusions
summarise their
essay while
reaffirming their
clear judgement.
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Paper 2 qu.2a © Pear.

2a. Evaluate the view that membership of the EU
undermined parliamentary sovereignty.

This document is available free of charge on g stUdocu
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This introduction is an excellent example of providing context, defining only
the relevant terms and, albeit with some qualification, answering the question

by rejecting the assertion.
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First, it could be argued that the EU has undermined Parliamentary sovereignity because it

This student is showing

has taken some UK legislative power. All EU law is supreme over UK law, and the UK excel Ient detailed

accepted this by agreeing to the European Communities Act of 1972. Therefore any UK law kn 0W|edge an d pre se ntS
that contravenes with EU law must be amended so that it is in line with EU policies. The EU both VieWS in their

has a series of common policies that must be obeyed by all member states, such as the SeCti on. H oweve r,

despite a brief
evaluative sentence
starter at the bottom,
they have not argued the
case particularly

Common Agricultural Policy and the Common Fisheries policy, which have limited
Parliament’s ability to legislate on issues regarding fishing and agriculture, showing that it

has limited Parliamentary sovereignity. However, there are a number of ways that

Parliament’s sovereignity has not been affected by the EU. Firstly, Parliament retains power

over tax, law and order, social policy, healthcare policy and education policy, showing that eﬁ:e CtiV ely Of th e Si d e
their ability to legislate has not been limited. Further, Parliamentary sovereignity has not th ey bel ieve tO be

been undermined because, despite the EU’s common Foreign policy, the UK retains control Stronger_ Wh||e A03 | S
of its own foreign policy and can spilt from the EU on this issue. This was seen when the UK eVident, |t iS nOt at as
joined the US led military invasion of Irag in 2003, unlike the other EU states. Parliament h |g h d Ievel as the AO 1 .

Students need to
concentrate on meeting
all three AOs to score
highly in essays.

This document is available free of charge on Q stUdocu
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retains control of the UK’s economy, especially as the UK are not part of the Eurozone,

proving that, despite claims that Parliament’s ability to affect legislation has been limited, it

has not actually been limited and Parliament remains sovereign.
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The student, in
this counter-
point, is
disagreeing with
the point made
above (not
shown) and then,
in an interim
judgement,
reasserting their
views.
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2b. Evaluate the view that although the House of
Lords has less power than the House of
Commons, in practice it exerts more influence
on government decisions.

This document is available free of charge on g stUdocu
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An example of an introduction which outlines the two sides of the debate
and then presents a clear line of argument.
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Above, the student is outlining one side of

the argument in their opening point.
(only part of the paragraph is shown)

Then, in the following counter-point, they
are not only giving the opposing view
(AO2), but explaining why they think it is
the stronger view (AO3).

(only part of the paragraph is shown here)
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This snippet from a paragraph shows the option of an interim judgement to
express AO3. The student has discussed both arguments and now in an
additional paragraph has assessed which one is most valid.
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AOs in 24-mark © Pearson
ideas questions

« 24-mark ideas questions have a different stem,
“To what extent do ...’

 This will usually be followed by asking students to
compare the way the strands within that ideology agree
and differ over the topic raised, e.g. the state.

* As such the nature of the comparison (AO2) and
judgement reached (AO3) are different.

« Comparisons (AO2) will need to be made about areas of
agreement within the strands over the topic, as well as
areas of disagreement.
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AOs in 24-mark © Pearson
ideas questions

* Due to the question stem, the judgement (AO3) required
IS not simply on whether there are similarities or
differences, but whether there are more similarities
than differences (or vice versa).

* |deas answers need an introduction and conclusion as
this is where the AO3 judgements will be included.

* Moreover, the AO3 judgment should be made in the
paragraphs linked to the AO2 comparisons made.
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\:75 Question 3 general points i

 As Question 3 has a different stem, the nature of

comparative analysis and evaluation is different than
on Questions 1 and 2.

* Forideas questions, students need to evaluate
whether the similarities were greater than the
differences within the named ideology over the issue
raised.

* Most students were unable to come to a sustained
judgement like this as too many students were not
comparing strands within their answer. Centres need
to focus on this going forward.

* Very few candidates were caught by the ‘thinkers
cap’, and almost all of those who were had an
otherwise weaker answer so were not significantly

affected by it.
This document is available free of charge on g studocu
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Core ideas questions © Pear.

e ®

3a. To what extent do socialists have conflicting
views over how the economy should operate?

3b. To what extent are conservatives united in
their view of society?
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1 1

This introduction addresses This introduction recognises
the issue of divides, but does disagreements only, but not
not come to a judgement whether they are greater than
about which is greater. agreement.
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as to which one
is greater.
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Mocan b araagd Hhar Social democrab anA the. In order to address all the
AQOs, the best structure for

~Ahird Wiy have om it s (Paplicttg, Ideas essays is a themed
ViAot Hao economant  pecasten . TWIS 1S becamas | approach, that is, looking

thay Doth, Vit the State A san waStramant D at more than one strand
within a paragraph.

Aarag capiram. Anenoiug (rolbland Stared s
.fra.-P{'fﬂ..L{-;’&m W aAA RMPJJ\.MWW_ (Yeatoev of Wﬂ_ﬂ-l-{'.lﬂ'..J. This enables students to
Ihowievee IFS. GIAtOMLS thovdd be vwanoded. . | address all three AOs

....... In_accovAance, e 0AVOALeA fov paiie ful effectively.

Lomsntintimaal MLARA. 4D deliver opiwmiaal Here the student is looking

_Oowttovwags . Similandiiea can Rl dlawn with bhe at similarities between
Hard WoM | &b they sdae S0ek t0 envase Yl social democrats and the
PAALKIC, VILWWAQ 1 BA & MLANA KD W2ip tholL Third Way.

""""" S’Qwﬂ L XCLKARA . H-wn bath. thoke formA (The student then goes on to contrast

this with differences between them in the

oﬁr& that #he Stare and the mMarior ‘3|'\.ﬂlfL-L,d. next paragraph, and then differences
between them and Revolutionary

~dpecate 1og erhor, bo if '"'l'wm"‘ﬂ'k L e Socialists in the final one.)
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Here a student is addressing
their previous paragraph and

Strordd o comgevipisne.  UAiSE madidimg | Critiquing it by arguing that
amgervaliup  Such af feples m-rm;,qﬁ the agreements within
Budee - Argue thett __hatd Pdemaiisn. /s u Conservatism they identified
W ackuade pafemadison N S are not as significant as the
" § o peneys disagreements outlined here.
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cenapt ol ‘noblagde ﬁbll:&t.," and 4, uper paragraph) both one-nation
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pepetuctel By Buder - One  Naben cmlnw!r‘--u
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Haleed Bat Sﬂﬂ' _Pﬂ}em”i;m_ L!)WITS Tha greater differences between the New Right

and these two strands.)
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Anarchism questions

3a. To what extent does anarchism have a
coherent view on the economy?

3b. To what extent is an anarchist society a
realistic goal?
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Here, in their introduction, the student is clearly identifying that there are
more disagreements than similarities in anarchist views of the economy.
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Ecologism questions © Pearson

4a. To what extent do ecologists have concerns
over economic growth?

4b. To what extent do ecologists argue that
radical change in society is necessary?
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The beginning of

oRlg \ this paragraph
. D00, Mad b Xapm QXPLO@&% identifies agreement
n«u m mxnml Y02 an m Bk aﬂ and disagreement...

it then goes on to
explain the general
view of ecologists...

before continuing
with an analysis of
divisions.
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The student starts
by outlining that this
is the most
fundamental
division....

It then goes on to
suggest agreement
between two
ecologists...

but then continues
to suggest that the
agreement is
superficial and in
fact there is clear
and fundamental
disagreement.

Tmbmu’w‘m¢wwwm£hm\9ammmkd AL g
1. S QYW MA. . L1 LD DALIDAOL. QANICINDG S

In. LepaRandom.,. Uge p.. L LOLOMDES. LOMPALER LU AMNLL
M riund. 6.0k 00 pL A (2. NAAM L. Dt 10

QWMJu\t’bu"rmwé‘q’lmbd%MI%&mOMn%aymgaWsoc@gmancom)

68




Pearson

Feminism questions Edexcel

5a. To what extent do feminists agree on human
nature?

5b. To what extent do feminists disagree about
the nature of the society they wish to create?
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Feminism questions: Edexcel
general points

It seemed as well that a significant minority of candidates were
unable to develop the views of the key thinkers either in detail or, at
times, accurately. This suggests some centres are focusing too much
on non-key thinkers such as Mary Wollstonecraft, Betty Friedan and
Shulamith Firestone.

Of the strands of feminism, radical feminism seems to be least well
understood. Many candidates ascribed the views of difference or
separatist feminists to all radical feminists, when they represent a
small minority of feminists overall. ‘Political lesbianism’ was often
misunderstood and exaggerated.

The key area for candidates to practise is comparing and contrasting
the views of different feminists, so that answers explicitly consider
the degree of difference between their positions.

Weaker answers also lacked a clear structure and comparison and
AQO3.
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Here the student is showing areas of agreement within the different strands of
feminism in their first paragraph where they are focusing on ‘equality
feminists’. Please note, however, that the twesfeminigis guoted are not among
the five named Key Thinkers,inthe.specificatinsmai.con
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In the next
paragraph, they
are identifying
disagreements
as well as some
agreement
within the
strands.

The most
important thing
in the structure
of ldeas essays
is to ensure that
all paragraphs
contain
comparisons of
at least two
strands.
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6a. To what extent are conservative criticisms of
multiculturalism justified?

6b. To what extent do multiculturalists disagree
over the role of the state?
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This introduction highlights the argument the student will continue throughout
their essay.
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In this paragraph, the student is comparing different opinions of conservative
criticisms.
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The student
introduces the
argument they will
be following in their
essay...

Their first point
begins with Liberal
multiculturalism but,
in the same
paragraph (not fully
shown), they bring
in disagreements
with other strands,
hence raising their
AO2 marks.
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The. 7£uof Wag W wnuch mudticudtural

student is
picking a
theme and
then
addressing
how different
strands of
multi-
culturalism
disagree over
it.
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...and then concluding by asserting that multiculturalists disagree over the
state.
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Nationalism questions © Pear.

7a. To what extent is nationalism regressive?

7b. To what extent does nationalism divide
rather than unite societies?

This document is available free of charge on g stUdocu
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Here are three introductions.
The first one defines some
terms and outlines, in order

T T RPN PSS — ey he o pebirita).. cONTPMOE.

o £k wbthla e contomiaTs sk ST (dao\ogres, Ty the most to least regressive.
| It does not outline the view
iy B Lk o O A i L S S ‘"J"“M' the essay will be taking.

‘M?'?" Spenini\y. N seae Swith S8 thi  statt el The second and third ones
W outline the view they plan to
LI YL 7L (VT TP ROV % 1Y argue, which is a key

gt e Mauresssed Qe ok W MIE #Hs | component for AO3 marks.
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Here the student is
reinforcing the view
that nationalism isn'’t
progressive by
comparing the
different strands in
the same
paragraph.

Please note,
however, that
students, ideally,
should be
encouraged to lead
with the strands first
and then exemplify
with the thinkers,
rather than the other
way round.
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the views of the different
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Pearson

AOs in Component 3 © rears
12-mark questions

* 12-mark comparative questions on 3a
(USA) and 3b (Global) require AO1 and
AO2 only.

* This means that students simply have to
introduce AO1 that is relevant to the
question and then compare this AO2 to
find similarities, difference etc, depending
on the wording of the question.

- € studocu
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Pearson

AOs in Component 3 © rears
12-mark questions

* The best way to do this is to take a theme
and address the comparison within the
paragraph.

.t

* As there is no AO3, there is no
requirement to reach a verdict or
judgement.

* These questions also do not need
Introductions or conclusions.
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\:75 USA Q1 and Q2: 12-mark @2z

comparative questions

* The most effective approaches to these questions
were to identify clear differences/similarities etc, with
explicit points made between the US and UK with
exemplification.

« Some candidates addressed questions with no direct
comparisons, but this was only a small minority of
candidates. These gained limited AO2 marks.

« Some wasted time including similarities, when
differences were asked for (or vice versa), and
gained no credit. Candidates should be reminded to
answer the question as set, as this was a common
error in all the 12-mark comparative questions.

 Stronger responses referred back to the wording of
the question in each paragraph, rather than drifting
iInto general descrlptlons
Qstudocu
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Paper 3A qu.1a © rears

.t

1a. Examine how interest groups in the USA are
more effective at protecting civil rights than
pressure groups in the UK.
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This is the
opening
paragraph of the
answer; no
introduction was
needed.

Here the
student is
comparing US
and UK
pressure groups
in each
paragraph. They
are explaining
only why US
pressure groups
are more
effective, as the
question asks.
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Paper 3A qu.1b © Pearson

1b. Examine how devolution in the UK differs
from federalism in the USA.
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Here the student is
addressing a difference in
each paragraph.

They are addressing both the
US Congress and then
comparing it to the UK
Parliament and explaining the
differences only!

By using phrases like
however, whereas, unlike etc,
students can maximise their
comparative analysis.

It's worth noting that the
student began their response
like this with no introduction.
This approach is to be
encouraged.
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Paper 3A qu.1b exemplar © rears

Here the student is
discussing the issue
of sovereignty within
devolution and
federalism, which they
refer to in the opening
line of their
paragraph.

The student is being
highly comparative in
analysing the
differences in the two
systems (only part of
the answer is shown
here).
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Paper 3A qu.2 © rears

e ®

2. Analyse the different legislative powers of the
UK Parliament and the US Congress.
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Paper 3A qu.2 exemplar

The key to AOs in this
question is to answer the
question first and then
apply the comparative
theory.

Like Question 1, to
maximise AOs it’s best to
take a themed approach
and address the US and
UK within each paragraph.

Again, no introduction or
conclusion is needed, as
there is no AO3 and no
need to address the extent
of differences/similarities;
remember to answer only
what the question asks.
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In this example,
the student is
clearly
distinguishing
between the
sovereignty of the
UK Parliament and
the lack of it in the
US Congress.
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Paper 3A qu.3a © Pear.

3a. Evaluate the view that US foreign policy is
dominated as much by Congress as by the
presidency.

This document is available free of charge on g stUdocu
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Here the
introduction
has fulfilled the
requirements of
an introduction.
They have given
context to the
question,
addressed both
sides and
expressed a
judgement.
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Paper 3A qu.3a exemplar © Pear.

However, this argument is not convincing as the President’s

constitutional powers give him much more control over foreign policy than Congress.

Congress’ power to declare war is insignificant compared to the President’s power as Here, in the'_r
counter-point, the
Commander in Chief because this power is rarely used. Indeed, war was last declared in student is arguing
1942, yet it is undeniable that the US has been at war since then because of the US agamSt a previous
paragraph.
President’s ability to commit troops to foreign action, as seen in Iraq in 2003 and in the Cold The evaluation
) AQO3) is woven
War of the 1950s. Furthermore, the power of the purse has not helped Congress prevent ( )
throughout the
the President from taking action, as they have never actually withdrawn funding for military parag raph.

action, despite threats. Therefore, it is clear that the President dominates foreign policy

more than Congress as Congress’ constitutional powers to affect foreign policy are much

weaker than the President’s.

This document is available free of charge on Q stUdocu
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Paper 3A qu.3b © Pearson

e ®

3b. Evaluate the view that the effective working
of the US Constitution depends more on interest
groups than the Supreme Court.
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bear arms. However, this is not wholly convincing in light of the fact that there has been

some gun control legislation successfully passed through Congress, showing that interest

groups have not stopped Constitutional rights from being infringed by the government.

Clinton’s Brady Act created back-ground checks for people buying hand-guns and the NRA
did not stop this from passing through Congress, showing that interests groups are limited in

their ability to protect rights. In contrast, the Supreme Court have effectively protected the

constitutional right to bear arms, ensuring that the Constitution still functions effectively. In

the case Printz v. US, 1997, they ruled the Brady Act unconstitutional and were able to

prevent gun control where the NRA didn’t. Furthermore, in DC v. Heller, 2008, they ruled a

Washington D.C. ban on handguns and a requirement that shot guns and rifles must be kept
unloaded as unconstitutional, ensuring that the constitution still functioned as the right to
bear arms was protected. Furthermore, in McDonald v. City of Chicago, 2010, the right to
bear arms was also protected and they declared Chicago’s attempts to introduce gun

control unconstitutional. Therefore, it is clear that the right to bear arms has been better

protected by the Supreme Court than interest groups, showing that the Supreme court are

more important in ensuring the effective working of the US constitution.

This document is available free of charge on Q stUdocu
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Paper 3A qu.3b exemplar

Here, in a counter-
point, the student is
arguing against a
previous paragraph
and coming to a
view at the
beginning and end
of the paragraph.

This means that it
includes elements of
all three
Assessment
Objectives.
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101


https://www.studocu.com/en-gb?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=a-level-politics-example-answers

W Paper 3A qu.3b exemplar

Nl IR ALY amapasiat. St He SC wnSires..

2. qﬁse%wb, ﬁ«wch\\.. Ddheral Mo e cond...

RVANEY

MO recR oty mmmmm\wu CdRade. \n Abis cose.

Pearson
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paragraph ends, as it begins, with their view (AO3).

Again here the student, in their counter-point, is making it clear that they believe
this is the stronger argument and exemplifying their argument well. The
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Paper 3A qu.3c © Pear.

3c. Evaluate the view that the procedures for
electing US presidents and members of
Congress are not fit for purpose.
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In this
counter-
point, the
student is
addressing
procedures
for electing a
president.

Notice how
the student is
arguing the
case for their
view, rather
than just
presenting
an alternative
view.

104



2y Paper 3A qu.3c exemplar @&

. merv%mmafﬂuthumo_pncm“vz agaluw

...... SYSteAA.  CAMARA. N o CRNNSRENVR. . AL k., @A QVIMAK.................

Here, in an
_ ‘ | opening point,
Arava intambeng... (LQLLHPA. YGERA. YIGUAMA A% i | the student is
AL Thads iS.due (D the presence. of  Safe. Sears. TS ... addressing the
' ' oy issue of
"g-9¢ry 3 Congressional
elections.

ﬁr&+ka%Mfﬁt,wmmuWAALLS\(jS&am,fnmrm B

| em%}wdduywuu«ja#em%m O
.H".(&F.(ﬂ.&mmﬂw_&......(‘.h.o..t,t_‘.‘,A...fh..Q.'l,(,...,.\(..Q.!.’..QKS...'.‘.ﬂp...h.....t..‘.fsﬂ.....‘a_tlfu(_..._u.)a,‘j__‘., .

.emwmrv\aﬂfwmamzdbjfk\esysfm,ww
omﬁﬁw4mmbmua_sanrr;,ofd;s;1/monmm;-

o TIWAAS.  fhe . poliFAl.. SYstoan '"'“ﬁ-‘studocu- ...............

cument is available free of charge on

Downloaded by thomas donnay (kunal.ucluhsoc@gmail.com) 105


https://www.studocu.com/en-gb?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=a-level-politics-example-answers

@ Pearson

Edexcel

Component 3B (Global)

12-mark comparative
and 30-mark essay
questions

oooooooooooooooooooooooooooooo .ucluhsoc@gaireerprk Bolitho | Origami photography Pearson Education Ltd/Naki Kouyioumtzis



Pearson

\:75 General comments @Edexce.

 The key to success in responding to the longer questions set
IS to recognise that the performance level of an essay is
decided by all three of the Assessment Objectives.

« Alarge proportion of candidates score well in AO1 by
providing detailed and developed knowledge and
understanding, but they failed to attain the marks that are
available from AO2 and AO3.

« The intellectual skills required to perform at the highest level in
AO2 revolve around the ability to provide an analysis with
logical reasoning, and by drawing on similarities and
differences.

« With AO3 the evaluation will, at the highest level, be based on
fully effective judgements, which are consistently substantiated

and lead to fully focused and justified conclusions.
This document is available free of charge on g stUdocu
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Pearson

Paper 3B qu.1a © rears

e ®

1a. Examine the criticisms that have been made
of the World Trade Organisation and the G7/8.
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Here the student is
addressing criticisms of
both organisations.
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Again over the next two pages, this student is identifying criticisms of
both institutions
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By applying a criticism which applies to both institutions, students will
maximise their chances of scoring highly for AO2.
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e ®

Paper 3B qu.1b © Pearson

1b. Examine the factors that have led to China
and India being described as ‘emerging powers’.
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As with all 12-
mark questions,
the comparative
aspect requires
students to
make links and
connections
between two
elements
asked. Here it is
India and
China. The
student here is
effectively
comparing India
with China.
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While this is a
good answer, it is
typical of a lot of
answers which
focused primarily
on examples of
China when
answering about
both countries.
Ideally, both
countries will be
referenced
effectively.
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The student is
effectively
comparing
factors pertinent
to both India
with China
which have led
to them being
described as
emerging
powers.

Pearson
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Pearson

Paper 3B qu.2 © rears

2. Analyse how realists and liberals explain
the likelihood of war and conflict.
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Paper 3B qu.2 exemplar © rears

The Q2 12-mark
question requires
students to make
links and
connections
between liberal and
realist perspectives.
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Pearson

Paper 3B qu.3a © Pear.

e ®

3a. Evaluate the extent to which globalisation
has made the world unipolar rather than
multipolar.
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% Paper 3B qu.3a exemplar @k

The student is
continuing here,
concluding that
globalisation has
enhanced
unipolarity.
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Paper 3B qu.3b © Pearson

3b. Evaluate the extent to which human rights
are more effectively protected by humanitarian
intervention than by international courts and
tribunals.
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Here the student is considering the view that invention can be effective in
their opening point...

Downloaded by thomas donnay (kunal.ucluhsoc@gmail.com) 124



Pearson

Paper 3B qu.3b exemplar © Pear.

J

A Spe S Fe 05 Het Joe

1 |

...before arguing in their counter-point that, in fact, humanitarian
intervention is not effective.
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Pearson

Paper 3B qu.3c © Pear.

e ®

3c. Evaluate the extent to which regional bodies
are effectively able to challenge individual
states for influence in global politics.
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This introduction clearly outlines what it will address and identifies a view
which it carries out through the essay.
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Here the essay is arguing that NATO has not challenged individual states.
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